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NO | HEES BEETA BHERUSIN | wpne | s NO | HEES BEET A BRBEUS/D) | xgrne |
cm 50cm 1.0m Tcm 50cm 1.0m

1 A—4 BHAI#AO 0.16 0.16 0.15|BEh (FEE7cm) 62] D—6 [FaEF EEFEkIE 0.10 0.10 0.10 BEh

2| B—3 [MAMKIEE 0.15 0.13 0.12 B 63] D—6 |EHWUW=—a—43Y  (KE) 0.12 0.11 0.10 BEh

3 B—4 |&E/HifE{tiE 0.16 0.14 0.13 BEh 64 D—7 | EHEAREMEA 0.10 0.10 0.11 Eh

4 B—5 |[HHLAELE 0.11 0.10 0.10 BEh 65| D—7 |EFHEBREEUVE 0.15 0.13 0.12 Bh

5/ B—5 [AthdhNAEREE 0.11 0.10 0.09 BEh 66] D—7 [/NAEEMNK 0.18 0.18 0.14 Bh

6] B—5 [ERGERM){fHE 0.11 0.10 0.09 BEh 67 D—7 |2l 0.11 0.09 0.09 Bh

71 B—5 |XUERD)fhi 0.14 0.13 0.11 BEh 68| D—7 |ERULEE400mAEftia 0.13 0.12 0.12 Bh

8] B—5 |[FEXE 0.09 0.09 0.09 B 69] D—7 [FHEERAO 0.12 0.11 0.09 BEh

9] B—6 [THHARLE 0.10 0.10 0.08 BEh 700 D—7 |EHFEAR 0.08 0.09 0.09 D)

10 B—6 |FEJIE 0.10 0.09 0.09 B 71 D—7 |VWIAAERETE R A 0.11 0.10 0.09 BEh

11 B—6 |FEMERSED@FED){Fik 0.10 0.10 0.10 B 72| D—8 |[FEII(HFIE) 0.12 0.11 0.11 BN

12l B—6 [dEfFHE 0.09 0.08 0.09 BEh 73] E—2 |WFHEHE 0.12 0.12 0.11]BEh (FEE15cm)
13] B—6 [dLpifhii 0.10 0.10 0.09 BEh 74| E—2 |EZFHEFDB 0.12 0.08 0.08] i& . (8 E35cm)
14 B—6 |FHABHE 0.10 0.10 0.09 B 75 E—3 |[R/EQihigR 0.10 0.10 0.10 BEh

15 B—6 |M/EAREERI 0.15 0.13 0.12 B 76 E—4 |BEAREER 0.10 0.09 0.08 BEh

16] B—6 [|XRZT|EEFA 0.11 0.10 0.09 B 77 E—4 [HER /IR /X REERI 0.14 0.14 0.14 BEh

17/ B—7 |/NAEFHIE(EXRAEIE ) 0.10 0.10 0.10 B 78 E—5 |FRALFHE 0.10 0.09 0.09 BEh

18] C—3 hAERMEAO 0.11 0.11 0.11 BEh 79 E—5 |&BERAifhiA 0.12 0.10 0.11 Eh

19] C—8 [/ Af=ith AOfta 0.10 0.11 0.11 BEh 80] E—6 [|—/XH#1 0.11 0.10 0.09 Bh
200 C—4 |[#BOLUKN 0.13 0.11 0.08 BEh 81 E—6 |[EFEHERER=MHRFE 0.12 0.11 0.09 Bh
21 C—4 |FHX(BFHMEE ) 0.10 0.09 0.10 B 82 E—6 |/NEEHI~ AN 0.10 0.09 0.08 BEh
22| C—4 [BABfE 0.12 0.12 0.12 BEh 83 E—6 |[XKBOEYISUE 0.09 0.09 0.09 £l
23] C—4 [PXRFTIU—2FH9U(RE) (1) 0.09 0.09 0.10 BEh 84/ E—6 |&BLEEIMSRAD) 0.11 0.10 0.09 Bh
24| C—5 |[BEENARfE 0.10 0.10 0.10 B 85 E—7 |[FIRFBREFMGA 0.13 0.13 0.14 BEh
25| C—5 |RILEMGE 0.11 0.10 0.10 BEh 86| E—7 |EHIMSRAIEFAI 0.11 0.11 0.10 Bh
6] C—5 |X£i% 0.12 0.11 0.10 BEh 87| E—7 |EERAREERI 0.09 0.09 0.09 Bh
2711 C—5 [TREEHA 0.18 0.15 0.13 B 88 E—7 |ERARERHFRME 0.13 0.12 0.11 B
28] C—6_  |52oFELE 0.11 0.09 0.09 BEh 89| F—4 |m/stfhE 0.07 0.06 0.06 ] F& . (5 FE30cm)
29] C—6 |[E#IHENESLER 0.12 0.12 0.11 B 90 F—4 |$SRfEmMREEL I—EEHIGH 0.07 0.07 0.06[BEh (F5F5cm)
300 C—6 |[HEUIZXFE#AD 0.10 0.10 0.09 BEh 91 F—4 [I[HAEEBZAEUE2—0I 0.11 0.10 0.10 Bh
31 C—6 |#BlLI EMhEekKithErEERm 0.23 0.20 0.18 BEh 92 F—5 [BAM#A(R289H/5500m% LK E) 0.08 0.08 0.07 Bh
32 C—6 [LAFULAEEH 0.15 0.10 0.09 B 93 F—5 [ZERARER 0.11 0.10 0.09 BEh
33] C—6  |[MEBEBAG{MA 0.11 0.11 0.08 B 94 F—5 [RBt 42—ZRHl 0.09 0.09 0.08 BEh
34| C—6 |[FEELREEEIFEHRHEH 0.09 0.09 0.09 B 95 F—5 |ZRIGERBISHA/0th 0.08 0.07 0.08 BEh
35| C—6 |IUTREENE 7—(EAH) 0.10 0.09 0.09 BEh 96 F—6 [&_EfiKith AO 0.08 0.07 0.07| B (GEE30cm)
36| C—6 |[IUTHESZERAEE 0.10 0.11 0.11 =l 97 F—6  [MEHGET Fi% 0.11 0.09 0.08 BEh
37 Cc—7 [IMUNAVED 0.10 0.09 0.09 B 98] F—6 |EHEN\NRAEMFHAE 0.11 0.10 0.10 B
38] C—7 [KREANBEGE) 0.11 0.10 0.10 B 99| G—1 LTEZF@F@E-XXE) — — 0.06| & (FEF80cm)
39 c—7 [/NAERZLER 0.13 0.11 0.10 B 100 G—3 |FAEALEIEHIG 0.07 0.07 0.06| & (FEF20cm)
40 C—7 |EBFEEERIEM{HA 0.12 0.11 0.11 B 101 G—4 |SEKGRERGFRISIT{TIR) 0.08 0.08 0.07| 8 (FEF20cm)
41 C—7 |CEBEEAmmafta 0.10 0.10 0.10 BEh 102] G—4 |FEEFHA 0.08 0.08 0.08 Bh
42] C—7 |[HIUBEEMHE 0.11 0.10 0.10 BEh 103] G—5 |IBEOEHHCRI—HSTEIEF{HE 0.12 0.05 0.05 Bh
43] C—7 |EhEH (BEIEHEE) 0.12 0.12 0.11 BEh 104] G—5 [IFLEBEEHI 0.08 0.07 0.07 Bh
44| C—7 | KFHFHIEFRMA 0.12 0.12 0.12 B 105 G—6 | KEEHEHEKF 0.09 0.09 0.08 BEh
45| C—8 |BER(hHFE) 0.14 0.14 0.11 B 106 G—6 |Z2HTFK — 0.07 0.07| & (FEE50cm)
46| D—2 |IH¥Y—rwkCcCAO 0.11 0.11 0.10 BEh 107] H—3 |[BEF~sEihiE 0.07 0.07 0.06] F&H (FEE 10cm)
471 D—3 [PAFE®E 0.15 0.14 0.13 BEh 108] H—4 |FEECAELEZEES — 0.03 0.04]B& . (8 E50cm)
48] D—3 |[RENAREEFMA 0.14 0.12 0.12 B 109 H-—5 |EMMELERTECEINIZL) 0.06 0.05 0.05 BEh
49| D—4 |SBh(GERDfhHA 0.10 0.10 0.09 B 110/ H—6 [XERFEHhDERE 0.03 0.05 0.05 Bh
50 D—4 |EB4 3/ AMK 0.13 0.14 0.13 Eh 111 1—3 EX =P ED) — - 0.03| K&+ (B E60cm)
51 D—4 [EPRAESE 0.13 0.12 0.11 BEh 112 1—4 BFaEIOVYHRTILAOME — — 0.05|85Hh (F&E100cm)
52| D—5 |Z@hEEE{TsE 0.11 0.11 0.11 B 113 1—4 BADE () 0.05 0.06 0.05| & (FEE 10cm)
53] D—5 [BEE/NER (EIEIZHD 0.09 0.10 0.10 BEh 114 1—4 BRORXrUIHAO — - 0.07|EEnBAEFRT
54| D—5 |[EBANAERESERH 0.12 0.10 0.10 BEh 115 1—4 |BAELE RS AT IR R A5 m UKE S A) - - 0.04| EED BMEFR
55| D—5 |[IBEMRAREEH] 0.14 0.13 0.11 BEh 116 J—5 |FrELEIHEIF — — 0.04|BED BRTEFT
56 D—5 |BE/BAOfHE 0.11 0.11 0.10 BEh 117 K—3 HFro R AOEED - — 0.04|BED ARATERT
5711 D—6 |3rAEREYVIFI SR 0.11 0.11 0.11 B 118] K—3 [HFLLIE — - 0.02] 10/30(BE+)
58] D—6 |[BFH—TUE 0.07 0.06 0.06 BEh 119] K—3 [BA B — - 0.04] 10/30(BE+)
5] D—6 [EFirOFE#A 0.13 0.10 0.10 BEh 1200 K—3 | KEREHZfA - — 0.05| BED BAEFRA
60 D—6 Hi~ A+Fi 0.22 0.15 0.14 =) 121 K—4  |lifE — - 0.16] 8/7(BEh)
61 D—6 [hEEIBEREHLA 0.15 0.13 0.12 =) 122] K—4 |iftE — - 0.04] 8/7(BEh)




